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B.  

 

6. 7x – 5 ≥ 5 

 Step 1.  7x – 5 ≥ 5 

 Step 2.  7x – 5 + 5 ≥ 5 + 5 

 Step 3.   7x ≥ 10 

 Step 4.  
଻௫

଻
 ≥  

ଵ଴

଻
 

 Step 5.  x ≥  
𝟏𝟎

𝟕
  

 

7. 10 – 6x ≤ 2 

 Step 1.  10 – 6x ≤ 2 

 Step 2.  10 – 6x - 10 ≤ 2 – 10 

 Step 3.  -6x ≤ -8 

 Step 4.  
ି଺௫

ି଺
 ≥  

ି଼

ି଺
 

 Step 5.  x ≥  
𝟒

𝟑
 

 

8. |6x – 7| = 3 

 Step 1.  |x| = x (if x is zero or a positive number).  

|x| = -x (if x is a negative number) 

 Step 2. 6x – 7 = 3,  and  6x – 7 = -3 

 Step 3. Solve each equation. 

a. 6x – 7 = 3 

Preview from Notesale.co.uk

Page 10 of 12



LINEAR COORDINATE SYSTEM, ABSOLUTE VALUES, AND 
INEQUALITIES 

07/28/2021 

  
 

11 | P a g e  
 

10. 4 < 2x + 2 < 10 

 Step 1. 4 < 2x + 2 < 10 

 Step 2. 4 - 2 < 2x + 2 – 2 < 10 – 2 

 Step 3. 2 < 2x < 8 

 Step 4. 
ଶ

ଶ
<  

ଶ௫

ଶ
<  

଼

ଶ
 

 Step 5. 𝟏 <  𝒙 <  𝟒 
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